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(provide ‘Pinark for the three forces to be correct and 2.mark for the three forces to meet

at one point)

(no marks if the three foces do not meet at one poin¢t)
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Another method

Force x Distance = Gain in Kinetic Energy
30X 10°X s == x 6000 x 502

s =250m

fi. The air resistance against the motion has not been considered in the calculation/ the average
acceleration of the jet plane 1s less than 5ms™ due to air resistance
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iii. speed should increase above 8Oms?* @
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Vi = 5 x&D + 2va + 2V,
Vi = -5 -\—D_V.t} A2V, __Q)

Qv) NoRr 30\'3‘( —0)



